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2.1 ก
�	��������������

ก
� (Climate Change) 

ก�����	
��
�������������ก�� (Climate Change) #���$%� ก�����	
��
���
�&ก'()��ก���*�	
� (Average Weather) /��01�2	
#�%
� �&ก'()��ก���*�	
� #���34���4�$%� 
�&ก'()2&1�#�52	
�ก	
�467��ก&8��ก�� �9:� �;(#���� <� �� ��=�>7� �ก�56%1�?�กก�����	
��
���
�)#4:��8����ก�� �#���;2� �01�@�ก2	
��=��1A�
6B� 
C:�5��
�)��
��	9	4�>2	
���&����:8��01�@�ก 
�&��	?�ก54���2�>�D ��)ก�8ก&�6%1���=��)88������ก�� ���กEก��(D2��F���9�>�
�)��;'�D��=�
C�7ก:�/#7�ก�5ก�����	
��
�����3D��)ก�8>:��G /�9&1�8����ก�����
���ก6%1� �9:� 2A�/#7�����(กH�I
��0��ก�)?ก �)������
�)�0
�G ���
�6%1�
�)��=�>&4ก���A�3&J>:�ก�����	
��
�������������ก�� 
ก�����	
��
�������������ก���:4�/#J:�ก	
�467��ก&8F���9�>�6��@�ก (����D������ก��
#:�9�>�, 
2557) I%
�34��#���>��ก��86����;�&JJ�4:�574�ก�����	
��
���������ก�� FCCC (Framework 
Convention on Climate Change) ก�:�44:� ก�����	
��
���������ก�� 30� ก�����	
��
�������
������ก�� �&���=�C�2��>��#�0�2���7��?�กก�?ก���6����;'�D 2	
2A�/#7��3D��)ก�86��
8����ก�����	
��
���S� ��ก�#�0�?�ก34��C&�
��>��F���9�>� (ก���;>;����4�2��, 2557)  

�&ก4�2�����>�D�90
�4:�ก�����	
��
�������������ก���ก�5?�ก���#>;2��
F���9�>�
�)��;'�D��=�>&4ก���A�3&J I%
�ก�����	
��
���@5����#>;2��F���9�>�>7��/97
�)�)�4����4��� �9:� ก���3�0
��2	
6�����0�ก@�กก��#�;�6��
ก�@�ก ก��#�;�6��@�ก��8
54���2�>�D @�ก#�;���8>&4��� 
�)ก���ก�5?;55&88�54���2�>�D ��=�>7� 
>:ก�����	
��
���
����������ก��2	
�ก�56%1�?�กก��ก�)2A�6����;'�D ?)�#B�C�S57/��)�)�4��2	
�&1�ก4:� I%
�$7�����
������ก��6��@�ก���	
��
�����:���45��B4 ก:�/#7�ก�534����	
��2	
?)�ก�5C�ก�)28>:���
�
45�7��
��ก��
�6%1� �9:� �;(#����6��@�ก���6%1� 2A�/#7T5�ก��>:��G ���	
��
���S� ��
��	9	4�>8��9��52	
S�:
�����$��&8>&4/#7�67�ก&8����
45�7��2	
���	
��
���S�กB?)3:��G ��J�&�F;DS�/�2	
�;5 8���01�2	

�ก�534��
#7�
�7�?����	
����=�2)��2��� �1A�
6B�8���4(6&14@�ก�)���
�)2A�/#7�)5&8�1A�2)��
���6%1� 2A�/#7�ก�5�1A�2:4� �ก�)��BกG ?�#��S� �01�2	
���:���&��5�7���� 
�)��7��34����	�#��ก&8
9��<UV� �W�S�7 2)��2��� 2;:�#J7�
�)�01�2	
F���9�>�>:��G ?)�	�&ก'()��ก��901� 
#7�
�7� �7��
#�0�#��4��ก6%1� �:�C�ก�)28>:�34��#��ก#���2��9	4�����:��ก47��64�� 3;ก3��6	5
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34�������$/�ก��C��>��#��6��@�ก 2A�/#72�&���ก��1A����	
��
��� �4�S�$%�@3����7��
�01�Y��2��ก�����>:��G ��	�#�� (����D������ก��
#:�9�>�, 2557) 

2.2 '(�)�*�(+��
,

ก
�����-
.(/ 

  2.2.1 
012����3
�

ก
� (Air temperature) 

 ����Dก����	����74�2�����>�D@�ก
�)5������>�D (Learning modoule on Earth 
Science and Astronomy: LESA) (2546) /#767����S474:� �;(#����6����ก����=��U??&��01�Y��/�
ก���%ก'�����������ก�� I%
��;(#����6����ก��?)
�����	
��S�/�
>:�)9:4��4�� �9:� �d T5�ก�� 
�50�� 4&� 
�)
�7ก�)2&
����9&
4@�� 5&��&1�/�ก���������;(#����6����ก��?%�>7����������=�3:�
�;(#�����*�	
� @5�2A�ก��4&5�;(#��������;5
�)�;(#����>
A��;5/�
>:�)4&� I%
���
�2	
��=����#>;�A�3&J
2	
�;5/�ก�����	
��
���6���;(#����/���84&�กB30� ก��#�;���8>&4���6��@�ก I%
�2A�/#7�;�2	


����2�>�D>กก�)28�01�C�4@�ก���	
��
���S�  

    2.2.1.1 �899(�����-
:2;
012����

ก
�:��'<�=�>
������.�
��'ก'<
�ก(� (����Dก����	����7
4�2�����>�D@�ก
�)5������>�D, 2546) 

      1) ,?*�+����=,?*��-*
 

 �01�5��
�)�01��A1��	3;(��8&>�/�ก��5�5ก�0�
�)3��34���7��
>ก>:��ก&� ��0
��&8
34���7���01�5��?)�7��6%1���:���45��B4 
�)�	�;(#�������ก4:��01��A1� ��0
�3��34���7���01�5��?)
��B�>&4��:���45��B4 
�)�	�;(#����>A
�ก4:��01��A1� 2&1��	1��0
��?�ก�01��A1��	34���7��?A����)���ก4:�
�01�5��$%� 3 �2:�>&4  

      2) �=+(����3
�,?*����  

 ��ก����=�>&4�A�34���7�� (Conduction) 2	
S�:5	 ��0
��?�ก��ก���	34��@��:�/�

�)�	34��#��
�:�>A
� �01�5��?%�5�5ก�0���&����?�ก
����2�>�DS575	ก4:� ��ก��$:���234���7��
?�ก�01�5��574�ก����34���7��(Convection) S�>��ก���3�0
��2	
6����ก�� /�����2&
4S����?)
�84:� ��
����6%1�S� �;(#����6����ก��?)�5>A
���574��&>�� 5.5-6.5 °C >:�ก�@���>� (Environmen 
tal Lapse Rate) 5&��&1��;(#����8���5�6���� 2,000 ��>� ?)>A
�ก4:��;(#����2	
�)5&8�A1�2)��
��)��( 13 °C  

      3) '-
�2�<��
������
�'�A 

 �01�C�4@�ก�	����������)�2�
>ก>:��ก&� �	2&1�2	
��8 2�4�6� #;8�6� 2)�� 
�#���;2� 2)����8 2)��2��� 2	
��8��� ����������)�2�?%��	��2F���>:�����������ก��
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@5�>�� �9:� �01�2	
2)��2���?)�	34��
>ก>:��6���;(#�����)#4:��ก���4&�ก���30���กก4:��01�2	

9��2)�� �01�2	
�&8��?)�	�;(#����>A
�ก4:��01�2	
�&8����0
��?�กS�:�	ก��$:���234���7�� 

      4) �='�9�+ 

 ��0
��?�ก@�ก��=�2��ก�� 
����2�>�D?%�>กก�)28�01�@�ก��=��;�S�:�2:�ก&� /�
�4���2	
��4&��01�C�48���4(����D��>�S57�&8�&��	?�ก
����2�>�D��=��;�9&� 
>:�01�C�48���4(6&14@�กS57
�&8�&��	?�ก
����2�>�D��=��;���5 �:�C�/#7�6>����D��>��	�;(#�������ก4:��6>6&14@�ก ��)ก�8ก&8
�&��	2	
>กก�)28�01�@�ก��=��;���5 �5��2��C:��34��#��9&1�8����ก����=��)�)2����กก4:� 
�&��	2	
>กก�)28��=��;�9&� 34���67�6��
��?%�$�ก8����ก��ก���/#7�5�7���� ��=�C�/#7
�;(#�����5>A
��� 

      5) ����
1	�D��=
(���E+ (Albedo) 3
�,?*�I�� 

 ��l�)27���&��	?�ก��2�>�D8���:4�ก�&830���:�4ก�� 6()�5	�4ก&���l5�5ก�0�
�&��	3�0
��&1����S47
�)
C:��&������ก��/����6���&��	���m����5 /��4��ก���4&� ��l9:4��5
�;(#������ก��/#7>A
��� 
�)/��4��ก���30� ��l2A�/#7�;(#������ก�����6%1� ��l?%�2A�/#7�;(#����
��ก���4��ก���4&�
�)ก���30�S�:
>ก>:��ก&���ก�&ก �01�C�46��@�กกB�9:�ก&� �01�@�ก2	
�	�&�8	
@5>A
� (�	�67�) �9:� �W�S�7 5�5ก�0���&����?�ก54���2�>�D �01�@�ก2	
�	�&�8	@5��� (�	�:��) �9:� 
F���A1�
6B� 9:4��)27����&����?�ก54���2�>�D (�&�8	@5 #���$%� 34�������$/�ก���)27��

��6��4&>$;) 

 

  2.2.2 .�
�)?*�3
�

ก
� 

 34��901�6����ก�� 30� �����(S��A1�2	
�	���:/���ก��8���4(/58���4(#�%
� I%
��	
�&5�:4�2	

>ก>:��ก&�S�/�
>:�)27��2	
 I%
�#�ก��ก���	S��A1����:/������(�>B�2	
 
�)�&8S��A1�?�ก
2	
�0
�G S�:S57�	ก
�74 #�0�S57��	����Bก�7��?)��	�ก4:� n��ก����
�>&4o (mp��ก�D��9��3�, �.�.�.) @5�
/�ก��4&53:�34��901�6����ก��@5�2&
4S��	 2 4�F	 30� 

      2.2.2.1. .�
�)?*��(����1A (Absolute Humidity) 30� �&>���:4��)#4:���4�6��S��A1�/���ก�� 
ก&8�����>�6����ก���&1� �	#�:4���=� ก�&�>:���ก8��กD��>� 

     2.2.2. 2. .�
�)?*��(�,(�MA (Relative Humidity) 30� �����(���	�8�2	�8�)#4:���4�6��S��A1� 
2	
�	���:?���/���ก��6()�&1�ก&8�4�6��S��A1�/���ก����
�>&42	
�;(#����
�)�����>��5	�4ก&� �	3:�
��=��7���) 
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    2.2.3 .�
�	�P���=����
��� 

 ����D�;>;����4�2��2)�� (2549) /#7�����4:� �� 30� ก�)
���ก��2	
�3�0
��2	
/�

�4��� �ก�5?�กก���3�0
��2	
6���4���ก��I%
��	�;(#����
>ก>:��ก&� ก����	�ก90
����&1���	�ก>��
2��2��2	
���&1�G �&5�� �9:� ��2	
�&5��?�ก2���#�0���	�ก4:� ���#�0� 
�)��2	
�&5��?�ก2��/>7
��	�ก4:� ��/>7 ��=�>7� @5�ก��4&5���	4�F	ก��4&5 2 4�F	 30� 4&52��2���� 
�)4&534����B4��  

      2.2.3.1. ����
��� ��?��	�ก90
�>��2��>:��G 6���6B�2�� #�0���	�ก��=�����?�ก2��?��� �U??;8&�
ก��4&52��������4&52��2����>���6B�2�� 
�)4&5��=����� $7�4&52��2����574��6B�2�� �6B�2��?)
$�ก
8:���ก��=� 2��/#J:G 4 2�� 30� 2���#�0� 2��/>7 2��>)4&���ก 
�)2��>)4&�>ก I%
�2��2&1� 4 2�� 
��0
�
8:��:���	ก?)��=� 8 2�� @5�?)���
�2��>)4&���ก�*	���#�0� 2��>)4&���ก�*	��/>7 2��>)4&�>ก
�*	���#�0� 
�)2��>)4&���ก�*	��/>7 (4�9&�, 2536) (���2	1) ��ก?�ก�	1�&������$
8:�?�ก 8 2�� /#7
�:����=� 16 2�� (���2	
 2) #�0� 32 2�� S57�	ก 
>:ก��������2���&1� �&ก����������?A��4�2����	�� 8 
#�0� 16 2�� �2:��&1� �:4�ก��4&52����2	
��=�����8�ก�;�6����?�ก2��?��� /��&ก'()2	
�4	��S�
>���6B���s�ก� /97��ก�?�ก 0 ���� S�?�$%� 360 ���� �9:� ��2�� 0 ���� #�0� 360 ���� ��=�2��
�#�0�, ��2�� 45 ���� ��=�2��>)4&���ก�*	���#�0�, ��2�� 90 ���� ��=�2��>)4&���ก, ��2�� 135 
���� ��=�2��>)4&���ก�*	��/>7, ��2�� 180 ���� ��=�2��/>7, ��2�� 225 ���� ��=�2��>)4&���ก
�*	��/>7, ��2�� 270 ���� ��=�2��>)4&�>ก 
�)��2�� 315 ���� ��=�2��>)4&�>ก�*	���#�0� ��=�
>7� 
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������ 1 ก��4&52����2	
��=�����8�ก�;�6����
88 8 2�� 

2	
��: ����D�;>;����4�2��2)�� (2549) 

 
������ 2 ก��4&52����2	
��=�����8�ก�;�6����
88 16 2�� 

2	
��: ����Dก����	����74�2�����>�D@�ก
�)5������>�D (2546) 
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      2.2.3.2 .�
�	�P��� 30� ก���3�0
��2	
6����ก��2	
2A�/#7�ก�5
�� #�0�34��ก52	
C:��?;52	
กA�#�5
/#78��01�C�4@�ก 
�)
��#�0�34��ก5��=��&5�:4�ก&8กA��&� 2 6��34����B4�� �F�8��5&�/����
6����ก�� 

 

 

 

��0
�   P = 34��ก52	
�ก�5?�กก��ก�)2A�6���� (���5D>:�>����m;>) 

v = 34����B4�� (��>>:�9&
4@��) 

k = 3:�3�2	
6��#�:4�2	
/97 (0.0053)* 

* #����#>;: #�ก�	ก�����	
��#�:4�34����B4����=� S��D>:�9&
4@�� 3:� k ?)�2:�ก&8 0.004 

 

 34����B4��?)�	3:�S�:3�2	
 �	���	
��
���>��5�4����:��>:���0
�� /�ก��#�
34����B4��C�4�01�#�3:��*�	
�/�9:4��4�� 10 ��2	 3:�34����B4������4&5574�#�:4� 30� ��> 
(Knots) 
�)��>��@8m��D> (Beaufort Scale) ก��4&534����B46�����	��)@�9�D>:�ก�����ก�(D
������ก����=���:����ก��0
��?�ก34����B4��?)8:�8�ก$%�ก��ก:�>&46�����;S57 

'
�
���� 1 ก�����	�8�2	�89��5
�)34����B4��/���>��@8m��D>ก&8#�:4��0
�G 

34����B4�� 
/���>��@8m��D5 

34����B4�� 
/�#�:4���> 

34����B4��/�#�:4� 
ก�@���>�>:�9&
4@��. 

9��5�� 

0 1 1.6 ����8 
1 1 z 3 1.6 z 4.8 ���8� 
2 4 z 6 6.4 z 8.6 ���:�� 
3 7 z 10 12.8 z 19.2 ���*0
�� 
4 11 z 21 20.8 z 28.8 �����ก��� 
5 17 z 21 30.4 z 38.4 ��ก�)@9ก 
6 22 z 27 40.0 - 38.4 ��
�� 
7 28 z 33 51.2 z 60.8 ���;���ก��� 
8 34 z 40 62.4 z 73.6 ���;ก�)@9ก 

P = kv2 
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34����B4�� 
/���>��@8m��D5 

34����B4�� 
/�#�:4���> 

34����B4��/�#�:4� 
ก�@���>�>:�9&
4@��. 

9��5�� 

9 41 z 47 75-2 z 86.4 ���;
�� 
10 48 z 55 88.0 z 100.8 ���;?&5 
11 56 z 63 102.4 z 115.2 ���;?&5 
12 64 z 71 116.8 z 131.2 �{��D���3� 
13 72 z 80 132.8 z 147.3 �{��D���3� 
14 81 z 89 148.8 z 164.8 �{��D���3� 
15 90 z 99 166.4- 182.4 �{��D���3� 
16 100 z 108 184.0 z 200.0 �{��D���3� 
17 109 z 118 201.6 z 217.6 �{��D���3� 

2	
��: 5&5
���?�ก ����D�;>;����4�2��2)�� (2549) 

 

    2.2.4 ����
1�*-
Q� 

 @3��ก�������;ก��S2��A�#�&8���49�| ( 2516) /#767����4:� �����(�1A�<���=�
��
��A�3&J��
���
�#�%
�/��;>;����4�2�� ����)�1A�<���=��U??&��A�3&J2	
�ก	
�467��ก&8ก��ก��ก���
�)
�0
�G I%
�ก��4&5�����(�1A�<�9:4�/#7�����$2A���������(�1A�2	
?)���
�6%1�/��01�2	
#�%
�G S57 @5�
�&ก/97ก��4&5�����>�6���1A�<�2	
>ก��/���9�)/�9:4��4��#�%
� 
�74�A���3A��4(��=������(
6���1A�<� (�)5&834�����, ��.) >:�#�:4��01�2	
 2A�/#72��84:��01�2	
/5��	
��>:�ก���ก�5�;2ก�&� 
�)
�01�2	
/5��	
��>:�ก���ก�5�&�
�7� @5�/�ก�������������(�1A�<��&1� ?)������4:�<�>ก��Bก�7�� <�
>ก���ก��� <�>ก#�&ก #�0�<�>ก#�&ก��ก 
>:ก��2	
?)>&1��ก(}D��ก�2	
��	�ก4:�<�>ก��Bก�7�� 
#�0�>ก���ก�����=�?A��4��2:�/5#�0�ก	
�������>��&1�S�:�����$2A�S57 ����)����6��<�/�
>:
�)��)�2��&1��	�����(
>ก>:��ก&�  

 ก���;>;����4�2�� (�.�.�.) �	ก��/#734��#���6�������(<��A�#�&8��)�2�
$8
@I��7��/��:�����;� @5�
8:���=��ก(}D5&��	1 

• <�4&5?A��4�S�:S57  = <�>ก�	�����(�7��ก4:� 0.1�������>�  

• <���Bก�7��   = <�>ก 0.1 �������>� 6%1�S� 
>:S�:�ก�� 10 �������>�  

• <����ก���  = <�>ก�����( 10.1 �������>� $%� 35.0 �������>�  
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• <�>ก#�&ก   = <�>ก�����( 35.1 �������>� $%� 90 �������>�  

• <�>ก#�&ก��ก  = <�>ก>&1�
>: 90.1 �������>�6%1�S�  
 

@5�4�F	ก��4&5�����(�1A�<�/��U??;8&������$2A�S57 3 4�F	S57
ก: 

      2.2.4.1 ก
��(+����
1�*-
Q��
.,?*�+�� ��=�ก��>�4?4&5574���>�4&5�1A�<� (Rain Gauges) 2	

>�5>&1����:ก���
?7�8��01�@�ก 
�)4&534��
��#�0�34��#��
�:�?�ก�����(�1A�<�2	
>ก�����&�
�01�5��@5�>�� /��4�� 24 9&
4@�� I%
�34��?���
�74?)/97��9�)/5กBS57 @5�/��5	>�	ก��/978�>�
��)�&8�1A�<�ก���
?7� ��0
��1A��>B�8�>� ��	�ก4:�<� 1 #:� �����>��1A�<�2	
4&5S57#��574��01�2	

��p5�&8<� 30�3:�34���%ก6��<� (4�9&�,2552) /��U??;8&�/97��9�)����&8�A�#�&84&5�����(�1A�<�

88��>�Y��@5��*��) I%
�@5��:4�/#J:��=���9�)2��ก�)8�ก �	��7�C:�����Dก���
�)34�����

>ก>:��ก&�>����>�Y��6��
>:�)��)�2� ��0
�>7��ก��4&5�����(<� ?)>&1���>�4&5�����(<�S47
/��01�2	
@�:�
?7� 
�)>&1�/#7���:/�
�4�)��8S�:�����	�� ��0
��4��C:��S�3�8 24 9&
4@�� ?%��A�
�1A�<�2	
����&8S57�2/�:ก�)8�ก>4���>�Y�� 
�)4��ก�)8�ก>4�/�2	
����&8��0
�/#7ก�)8�ก>4�
>&1����:/�
�45�
� ?�ก�&1�5�6	5��ก�67��ก�)8�ก>4� I%
�>��ก&8�)5&8�1A�<� 
�74�:��>&4��6/�#�:4�
�������>� I%
�3:�2	
S57?)�	#�:4���=��������>�>:�4&� (4	�)��, 2533) 

      2.2.4.2 ก
�'��9�(+�*-
Q�+;��	�+
�A (RADAR) ��=�3A��:���?�ก nRadio Detection and 
Rangingo #���$%� nก��>�4?�)�)Sก�574�3�0
�4�2�;o I%
��	#�&กก��2A����6����5��D30� ��5��D8�
��3�01�5��?)�:�3�0
�/����6��
�:�#�BกSmm�� (A pulse of Electromagnetic Energy) ?�ก?��
�����ก�� (Antenna) ��=�?&�#4)9:4��&1�G /��&ก'()6���A�3�0
��;�
38S�ก�)28��
�ก	564��
>:��G �9:� ก�;:���l ก�;:�<� >7�S�7 
�)���6� ��=�>7� 2A�/#7�ก�5ก���)27��ก�&8 (Reflection) /����
6����&�����)27��ก�&82	
��=��&JJ�(?�ก����#��� (Target Signal) 2	
��=�กA��&��)27��ก�&8#�0�
กA��&��&83�0
� (Return Power) I%
�?)���กE8�?���5��D (Radarscope) ��=��&JJ�(�)27�� (Echo) 
#�0�34���67��)27�� (Echo Intensity)>��6��56��กA��&��)27��ก�&82	
>�4?4&5S57 (ก��
�;>;����4�2��, �.�.�.) 

 �U??;8&� ก���;>;����4�2��S57?&5#��3�0
����5��D2	
2&���&� ��	�ก4:� 5�������D
��5��DS47/97/���9ก��6��ก��| >��34���#��)��6��?;5��)��3D/�ก��/97 3 9��5574�ก&� (ก��
�;>;����4�2��, �.�.�.) 
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1) )��+ X-band �	34����43�0
� 3 �I�>���>� 34��$	
 10,000 ��ก)�{��DI ��=���5��D2	

�#��)�A�#�&8/97>�4?4&5<�2	
>ก�8� #�0�>ก��Bก�7��$%����ก��� /��)�)/ก�7G 
�&��	#4&�C���)��( 100 ก�@���>� 

2) )��+ C-band �	34����43�0
� 5 �I�>���>� 34��$	
 6,000 ��ก)�{��DI ��=���5��D2	

�#��)�A�#�&8/97>�4?4&5<�2	
>ก���ก���$%�#�&ก #�0� >�4??&8���;#�;�2	
�	
กA��&�S�:�;�
�� �9:����;5	����9&
� 
�)#�����Dก������;���;@I��7�� �&��	#4&�C�
��)��( 250 ก�@���>� 

3) )��+ S-band �	34����43�0
� 10 �I�>���>� 34��$	
 3,000 ��ก)�{��DI ��=���5��D2	

�#��)�A�#�&8/97>�4?4&5<�2	
>ก#�&ก$%�#�&ก��ก #�0�/97>�4??&8#�����Dก���
���;2	
�	กA��&�
�� �9:� ���;S>7<;W� (typhoon) �&��	#4&�C��ก��ก4:� 300 ก�@���>� 

      2.2.4. 3. ก
�'��9�(+�*-
Q�+;��+
�	����
0'0��������
 (Meteorological Satellite) ��=�
�3�0
���0�2	
>�5>&1��;�ก�(D>:��G �A�#�&8>�4?4&5������ก��S572;ก�4��
�)��=�8���4(ก47�� I%
�
5�4�2	���;>;����4�2�������$
8:�S57��=� 2 9��5 (ก���;>;����4�2��, �.�.�.) 30� 

1) +
�	����
0'0��������
���
��<ก(���� (Geostationary Meteorological Satellite) 
30� 5�4�2	��2	
@3?�>����7�����D��>�2	
�)5&834�������)��( 35800 ก�@���>� 57
4�34����B4
�)2��2���5	�4ก&�ก&8ก��#�;���8>&4���6��@�ก 5&��&1�>A�
#�:
�5�4�2	��?%��&��&2FDก&8>A�
#�:�8��01�@�ก2	
5��#�0��4:�5�4�2	�����:��)?A�2	
 

2) +
�	����
0'0��������
���E.9�I<
�3(*�E�ก (Polar Obiting Satellite) 30� 
5�4�2	��2	
�	
�4ก��@3?�C:��/ก�76&14@�ก�#�0�
�)6&14@�ก/>7 I%
�?)�3�0
��2	
>��

�4�#�0�/>7 �9:� 5�4�2	�� NOAA (National Ocean and Atmospheric 
Admisnistration) 6���#�&Y�����ก� @3?���8@�ก2	
34�������)��( 840-860 
ก�@���>� 
�)5�4�2	�� METEOR (Metero Explorer) 6���&��I	� @3?���8@�ก2	

34�������)��( 900 ก�@���>� 

��:��S�กB5	 /��U??;8&�ก��>�4?4&5�����(<�574���5��D
�)5�4�2	���&�S�:
�����$/#73:�2	
�)��	�5$�ก>7���2:�ก&8ก��4&5574���>�4&5�1A�<�@5�>�� (4�9&�, 2552) 
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2.3 �0<��*-
.�
�
�<'=	�
 

  2.3.1 ���'(*���=��
,������=	�� 

�01�2	
�; :��1A�3����� :>)���>&1���� :/�?&�#4&5��6�� �	�01�2	
�4�2&1�#�5��)��( 
2,535 >����ก�@���>� #�0� 1,584,375 S�: 3��83�;��01�2	
�:4�/#J:6���A�����)�5� 
�)�A����
#�5/#J: 
�)�01�2	
8���:4�6���A����3���#��@6:� �A������#�:�� �A����8��ก�
A� �A������0��
��6�� 
�)�A����34���	�� (���2	
 3)@5��	�A��1A��A�3&J30�3�����:>)���I%
���=�����1A�2	
/#J:
�)�	
34���A�3&J2	
�;5/�?&�#4&5��6�� (�A��&ก�����

45�7����32	
 16, 2549) I%
��;:��1A�3�����:>)����	
�&ก'()��=��;:��1A�
88C�� (�;:��1A�
88���6��ก�4�ก&8�;:��1A�
88���4�ก��) I%
��	
�4�20�ก�6�
�����=�6�8�6>�;:��1A�/�2��2��>)4&�>ก 2��/>7 
�)2��>)4&���ก �:4�2��2���#�0�8��?8
2)����8��6�� ?�ก�&ก'()������)�2�6���;:��1A�I%
�6�857��2��>)4&�>ก
�)57��2��>)4&���ก
��=��01�2	
�����5�2��:
�4ก���6���;:��1A� /�6()2	
�01�2	
57��2��/>76���;:��1A���=�
�4�20�ก�6��&�
ก���3	�	
�)20�ก�6�8��2&5I%
���=�2	
���?)��5�2S��&�2���#�0� ?%�2A�/#78���4(�2�8���3�
#�5/#J:ก&82)����8��6���	�&ก'()��=�
�:�����&8�1A� @5��;:��1A�3�����:>)���?)�	3�����:>)���
��=�3����)8���1A�#�&ก�	34����4��)��( ��� ก�@���>� ?�ก�:���กB8�1A�3����)�5�$%�
2)����8��6��@5��	 �A��1A���6�2	
�A�3&J ��)ก�8574� �A��1A���6� �� ��� (���&ก5��
�)3(), 
2553; �A��&ก�����
�
45�7����32	
 16, 2549) 

�&ก'()�01�2	
6���;:��1A�3�����:>)��� 
8:���ก��=� 3 �&ก'()#�&ก 30� 

1) ,?*������	3
 ���:2��57��>)4&�>ก6���01�2	
�;:��1A�I%
���=��:4�#�%
�6���20�ก�6�
8��2&5 �A�#�&82��>)4&���ก�*	��/>7
�)2��/>7��=��:4�#�%
�6���20�ก�6��&�ก���3	�	 �01�2	
8���4(
�	1��=�
#�:�กA����5>7��1A��A�F��#������2	
S#�����:3�����:>)��� 

2) ,?*�����
���ก.�?�� ���:$&5?�ก�01�2	
���6������	�&ก'()��=������6���ก3�0
����
��5
�)���9&���&8ก&�S� ก�)?�����:2&
4S�>&1�
>:>��ก���$%�>��/>76���01�2	
�;:��1A�@5��:4�
/#J:��=��01�2	
���ก������� 

3) ,?*�����
� ���:2��2���#�0�6���01�2	
�; :��1A��:4�/#J:�ก�5?�กก��2&8$�6��
>)ก���A��1A���:>)���
�)�A��1A���6� ��=�2	
>&1�6��9;�9�6��5/#J:
�)�01�2	
��67�4 
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������ 3 6�8�6>�01�2	
�;:��1A�3�����:>)��� 

2	
��: �A��&ก�����
�
45�7����32	
 16 (2549) 
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  2.3.2 ��
,����

ก
� 

 �01 � 2	
 �; :� �1A � � :� � 3 � � � �� :> ) � � � � �� :� � � / > 7�� 2 F� � � 6 � � � � � � �; �
>)4&���ก�*	���#�0� I%
��&534��901�
�)#�:��34��ก5��ก�������?�ก��)�2�?	� �:�C�/#7�ก�5
T5�<��)#4:���50��>;��3�-F&�4�3� 6��2;ก�d �:4�9:4��50���0
�G ?)�	��ก���7����&8ก&8<�>ก
87����=�3�&1�3��4 (�A��&ก�����
�
45�7����32	
 16, 2549) 

 

 


